Paper / Subject Code: 19520/ Economics - Mathematical Techniquesfor Economists

Time: 2:00 hrs. Marks: 60

Note: 1. All questions are compulsory.
2. All questions carry equal marks.
3. Draw neat diagrams wherever necessary.

Q.1. Answer Any Two of the following. (15)

a) Describe the De Morgan’s Law of Set Operations.
b) Explain the meaning and types of functions.
¢) Give the definition of sequence and write down the types of it.

Q.2. Answer Any Two of the following. (15)

a) Briefly explain the applications of partial derivatives in economics.
b) Explain the concept of ‘Producer’s Surplus’.
¢) What are the applications of integration in economics?

Q.3. Answer Any Two of the following. (15)

a) Discuss the steps of minimizing cost subject to a set of constraints.
b) What are the steps of maximizing profit subject to a set of constraints?
c¢) Explain the substitution method of solving the constrained optimisation

problem.
Q.4. Answer Any Two of the following. (15)
a) ILA=[,c- andB= "°*
564
869

Find the A + B, A—B and AB.

b) What are the several types of matrices?

c) Solve the following simultaneous equations -
10x + 5y = 20
20x -5y =140
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A + B, A — B 3TIf0T AB 3T,
&) gt forferer Terr ivrd eTmRa?
%) WTeA T TehETHTIh THehior dieaT -
10x + 5y =20
20x - 5y = 40
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